



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(\frac{1}{2} + \frac{1}{4}\right)^2 + \frac{1}{5}\left(\frac{2}{5} + \frac{3}{5}\right) =$$

$$\left(3 - \frac{1}{4}\right)^2 - \frac{3}{5} + \frac{1}{3} - 2^2 =$$

$$\left(\frac{1}{2} - \left(\frac{1}{3}\right)^2\right) \times \frac{2}{3} + \left(\frac{2}{5} + \frac{3}{2}\right)^2 =$$

$$\left(\left(\frac{3}{4}\right)^2 + \frac{1}{6}\right) \times \frac{1}{2} + \left(\frac{3}{2} - \frac{1}{3}\right)^2 =$$

$$\left(\frac{1}{5} - \left(\frac{1}{4}\right)^2\right) \times \frac{1}{2} + \left(\frac{3}{5} + \frac{3}{4}\right)^2 =$$

$$\left(\frac{1}{4} - \frac{2}{5}\right)^2 - \frac{3}{2}\left(\frac{3}{4} - \left(\frac{3}{5}\right)^2\right) =$$

$$\left(\left(\frac{3}{2}\right)^2 - \frac{1}{6}\right) \times \frac{2}{3} + \left(\frac{1}{2} + \frac{1}{5}\right)^2 =$$

$$\left(\frac{3}{4} - \frac{3}{4}\right)^2 + \frac{1}{6}\left(\frac{1}{2} - \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\frac{3}{4} + \left(\frac{1}{3}\right)^2\right) \times \frac{3}{4} - \left(\frac{2}{3} + \frac{1}{2}\right)^2 =$$

$$\left(\left(\frac{1}{6}\right)^2 - \frac{1}{2}\right) \times \frac{1}{6} - \left(\frac{2}{5} - \frac{2}{3}\right)^2 =$$



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(\frac{1}{2} + \frac{1}{4}\right)^2 + \frac{1}{5}\left(\frac{2}{5} + \frac{3}{5}\right) = \frac{61}{80}$$

$$\left(3 - \frac{1}{4}\right)^2 - \frac{3}{5} + \frac{1}{3} - 2^2 = \frac{791}{240} = 3\frac{71}{240}$$

$$\left(\frac{1}{2} - \left(\frac{1}{3}\right)^2\right) \times \frac{2}{3} + \left(\frac{2}{5} + \frac{3}{2}\right)^2 = \frac{10447}{2700} = 3\frac{2347}{2700}$$

$$\left(\left(\frac{3}{4}\right)^2 + \frac{1}{6}\right) \times \frac{1}{2} + \left(\frac{3}{2} - \frac{1}{3}\right)^2 = \frac{497}{288} = 1\frac{209}{288}$$

$$\left(\frac{1}{5} - \left(\frac{1}{4}\right)^2\right) \times \frac{1}{2} + \left(\frac{3}{5} + \frac{3}{4}\right)^2 = \frac{1513}{800} = 1\frac{713}{800}$$

$$\left(\frac{1}{4} - \frac{2}{5}\right)^2 - \frac{3}{2}\left(\frac{3}{4} - \left(\frac{3}{5}\right)^2\right) = \left(-\frac{9}{16}\right)$$

$$\left(\left(\frac{3}{2}\right)^2 - \frac{1}{6}\right) \times \frac{2}{3} + \left(\frac{1}{2} + \frac{1}{5}\right)^2 = \frac{1691}{900} = 1\frac{791}{900}$$

$$\left(\frac{3}{4} - \frac{3}{4}\right)^2 + \frac{1}{6}\left(\frac{1}{2} - \left(\frac{1}{2}\right)^2\right) = \frac{1}{24}$$

$$\left(\frac{3}{4} + \left(\frac{1}{3}\right)^2\right) \times \frac{3}{4} - \left(\frac{2}{3} + \frac{1}{2}\right)^2 = \left(-\frac{103}{144}\right)$$

$$\left(\left(\frac{1}{6}\right)^2 - \frac{1}{2}\right) \times \frac{1}{6} - \left(\frac{2}{5} - \frac{2}{3}\right)^2 = \left(-\frac{809}{5400}\right)$$